Transverse EEC asymmetry for 1000 GeV < Hr, < 1100 GeV

T
L 7 AL L UL LR LA Ew,{:;E:é:_ ::E{:{z?w
- Lo Lo
\\+ + + + + T | 1
B ([ [ — .
SRR S : E
T Ao g ®bg o ]
- oAQEA T + .
- aEgERE- - H
C Wm 7n_wm S IR
R RBT4 T ﬁ | -
C 2 B |\HII_|?|III\
C e 2 T ]
ol o T | =
: S T
L o -t
C _I_ um_ [ ]
[ —1=-- ‘\+I+II.T ‘x
C e umTI._|_II|I__|III\
C T Il & g—— 7
- SRl S
L \m_ L] _
r J-_-—"~"~—"""~""""7"7"7"7/""”/""/"7/""/”""”77 S I | B S
C _.IHHHHHHHHHHHHHHHHHI ||||_mv4||||||H
N ittt N
e B o B S TR T, (T YRS T T
< o ] - o =)} 0 <A - -HO\ODN\OLN
"o "o "o "o "o e O HdHH O Cc o0
il i L L il
($509)P/ (e XP(2/ 1) eredl/ O

cos ¢

-0.1

-0.2

08 07 -06 <05 -04 -03

-0.9



